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What’s The Problem

We shoot a geantino from 

(0,0,0) upward and 

downward

• The geantino is stuck 

at the interface 

between Veto LAr 

and the Stainless 

Steel 

• The Stainless Steel 

seems to be 98 cm 

thick!
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Instead of...

It’s better to do: 

Stainless steel LAr



Geant4 Implementation 

(in DSDetectorLowMass.cc)
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To look at the shape of the cryostat we shoot a good statistics of geantinos from the 

Stainless Steel and look at the distribution of their coordinates

cryostatWalls_thickness = 1. cm

outerCryostat_outerRadius = 100. cm

cryostatVacuum_thickness =  2. cm

cryostat_height =  200. cm

Validation



• The geantino is no more stuck at the interface between Veto 

LAr and the Stainless Steel 

• The thickness of Stainless Steel is now correctly 1 cm 

Validation



BACKUP

SLIDES




